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11, The ages of childen in a youth-club are given in the fol
lowing table:

Ages (nyears) | 10-12 | 2-1s [ 1acie [ e
No. of children 12 o iy - 8 | 18-20 %
0

(10-12 means greater than or equal 10 10, but less than 12, etc)
(i) What is the modal age group? &

12. The following table shows the weights of parcels post
company on a particular day parcels posted by a disribution

Weight (inkg) | 0-2 [ 24 [ 46 [ 68 810
No. of parcels 6 [12 [ [ |1

(i) State the modal class.
(ii) Calculate the mean of the distribution.

13. The following table gives the number of points scored by a rugby team in 40
matches:





